EAGRAROBREERT — 2 N— IBISH —F

20215 7H278 (K) 8EIFIRI4E

m JANS L0 7588 B1 452 EREREEEET
[x&<£] 1 %:600,000H  23#%:168,000 3#&:126,000 4 3#%:84,000 M 53 :42,000H
E BB BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
S0 s N AR :57. -3-3- . - NB#AN (dtimE
il7lg| 7V rE=1H o4 iR 1(5_7)1 3-3-3-2 | 39.5 1 (4+824) Nees f3E)
R:yZ28—3=224— B:T7EITYTILT B
g > 3| BHIHA 1:57.8 1-1-1-1 | 40.7| — | 2 | 454 |AIIFEHE (i)
2179 YaIT—-Nb “ 7| 50 3) 4oy | B 1 kRS
R:UIf52—2 BE17EAVELR ERNYL
R e= e AAF(dh :58. —4-4- . - BEHRALE (AtimE)
318111 b2Vl N e #5 51;_0 1(538)4 S| 40.2 s (5&6) ﬁ’:iﬁﬁﬂ\ o
R:ZAv—hT77)0a> BILIERT1— BRE B
# oo | BFES 1:58.7 4-4-4-5 [40.5| — | 10 | 464 |FBE— (idd)
4 F—22A4 5.0 (1 1/2) Co s
L:rh—> BYFIRA—FT1— RIS
g = 4 8 | BEXK 1:59.0 1-2-2-2 | 41.6| — 5 462 | EXREHE (tEE)
5 EIHYTIV 56.0 (1 1/2) o) EE‘:F‘%I%E .
L:T7LIANIVE B:AYJET NUT Pzt e ]
y EiR%= :59. -8-6- 5| = Mega] (I
6 TAIVRF vy b i .0 1(35/%1)1 866 | 405 ! (4:120) FEEEE =
L:TAIWVKTy Y2 B:adx7Xey b e EE 45035
N D FWEFAT : -9-9- - NEET (dtEE)
7 2TL—FEH5L10 8| Bl (17;55?;) 9-9-9-9 | 40.3 6 (4&0) PRl
Z:O—-LibFLf4a B Xxv=>97aA [E]=sEaed
e ARSI : -10-9- = HEER (L)
alsls|Ly kT35 172 B || RN 1'28'9 10-10-9-9 | 41.1 1 (5;2) it i
R RKYJYRIR B:H X770y b HET7—L
S o5 | RERH 2:00.7 10-10-11-8 | 42.0 | — 8 500 | M EEF (dbiEE)
9810 Fy Ry B 56.0 (4) (-14) | RREX .
LN v Y= Bidyhrn— b e ]
v KEL 4 t> 5 | AllE 2:01.2 56-6-6 |42.6| — | 4 | 524 |FEEEEGL (itimiE)
Eﬂ 4| BTV Fx2T 7| 5.0 @ 1/2) (3) | BESER .
R:O—KHFA7 BEFH A IUy K J—HrIr—L
S O 44 | ERERIESE 2:01.4 7-7-6-11 | 42.8| — 9 474 | ¥AFOBL (AtiEE)
11111 O—K7zA—-X 57.0 (1) (+6) = =
RIAYTIyva BiF4T7—F FATAT7— 1
@ 11— S —&EBlIEafz
1=3—F— (7,9).,8,3,(4,11),(1,6),2,(5,10)
2ol=7r= 9,7,8,(3,11),4,1,6,2, (5,10)
dol=3r= 9,7,8,(3,11),(1,4,6),(2,5),10
43—+— |(9,(7,8),11,3,(4,6),10,(2,5) ,1
[ RNz
BB 8 140M 74 K 8-9 240/ & -7 470 & 8-9-11 960M
# B 8 100M 8-11 250 B = 8-9 420/ K31 8-9-11 2,290
9 160 9-11 730M B E 8-9 5504
1 170

ARICOVWTRDTEEERROODE. TR LIV,




